# A hybrid iterative method without extrapolating step for solving mixed equilibrium problem

K. R. KAZMI, S. H. RIZVI and REHAN ALI

ABSTRACT. In this paper, we introduce a hybrid iterative method without extrapolating step to approximate a solution of mixed equilibrium problem in real Hilbert space. We prove a strong convergence theorem for the sequences generated by the proposed iterative algorithm. The result presented in this paper is the extension and generalization of the previously known results in this area.

#### 1. INTRODUCTION

Let *H* be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and induced norm  $\|\cdot\|$ . Let *C* be a nonempty, closed and convex subset of *H*; let  $F : C \times C \to \mathbb{R}$ , where  $\mathbb{R}$  is a set of all real numbers, be a bifunction and let  $A : C \to H$  be a nonlinear mapping. Then, we consider the following *mixed equilibrium problem* (in short, MEP): Find  $x \in C$  such that

$$F(x,y) + \langle Ax, y - x \rangle \ge 0, \ \forall y \in C.$$
(1.1)

MEP (1.1) introduced and studied by Moudafi and Théra [12]. The solution set of MEP (1.1) is denoted by Sol (MEP(1.1)). If we set A = 0, MEP (1.1) reduces to the *equilibrium* 

*problem* (in short, EP): Find  $x \in C$  such that

$$F(x,y) \ge 0, \ \forall y \in C, \tag{1.2}$$

which is introduced and studied by Blum and Oettli [1]. The set of solutions of EP (1.2) is denoted by Sol (EP(1.2)).

It is known that the equilibrium problem has a great impact and influence in the development of several topics of science and engineering. It turned out that the theories of many well known problems could be fitted into the theory of equilibrium problems. It has been shown that the theory of equilibrium problem provides a natural, novel and unified framework for several problems arising in nonlinear analysis, optimization, economics, finance, game theory, physics and engineering. The equilibrium problem includes many mathematical problems as particular cases, for example, mathematical programming problem, variational inclusion problem, variational inequality problem, complementary problem, saddle point problem, Nash equilibrium problem in noncooperative games, minimax inequality problem, minimization problem and fixed point problem, see [1, 13, 7].

For example, if we set  $F(x,y) = \sup_{\zeta \in Mx} \langle \zeta, y - x \rangle$  with  $M : C \to 2^C$  a set-valued maximal monotone operator. Then MEP (1.1) reduces to the following basic class of variational

Received: 22.06.2015. In revised form: 29.09.2015. Accepted: 06.10.2015

<sup>2010</sup> Mathematics Subject Classification. 49J30, 47H10, 47H17, 90C99.

Key words and phrases. Mixed equilibrium problem, hybrid iterative method.

Corresponding author: K. R. Kazmi; krkazmi@gmail.com

inclusion peroblem: Find  $x \in C$  such that

$$0 \in A(x) + M(x), \ \forall \ y \in C.$$

$$(1.3)$$

Set  $F(x,y) = \psi(y) - \psi(x)$ , where  $\psi : C \to \mathbb{R}$  is a nonlinear function, then MEP (1.1) reduces to the following mixed variational inequality problem: Find  $x \in C$  such that

$$\langle A(x), y - x \rangle + \psi(y) - \psi(x) \ge 0, \ \forall \ y \in C,$$
(1.4)

If we set F = 0, MEP (1.1) reduces to the classical *variational inequality problem* (in short, VIP): Find  $x \in C$  such that

$$\langle Ax, y - x \rangle \ge 0, \ \forall y \in C,$$
 (1.5)

which is introduced by Hartmann and Stampacchia [9]. The set of solutions of VIP (1.5) is denoted by Sol (VIP(1.5)).

In 1976, Korpelevich [10] introduced the following iterative method which is known as extragradient iterative method:

$$\begin{cases} x_0 = x \in C, \\ u_n = P_C(x_n - \lambda A x_n), \\ x_{n+1} = P_C(x_n - \lambda A u_n), \end{cases}$$
(1.6)

where  $\lambda > 0$ , A is a monotone and Lipschitz continuous mapping and  $P_C$  is the metric projection of H onto C. He prove that that if Sol (VIP(1.5)) is nonempty then, under some suitable conditions, the sequence generated by (1.6) converges to a solution of VIP(1.5).

In 2006, Nadezkhina and Takahashi [14] introduced a hybrid extragradient method to approximate a common solution of VIP(1.5) and a fixed point problem for a nonexpansive mapping in real Hilbert space. A lot of efficient generalizations and modifications of iterative method given by [14] exist at this moment, for instance, see [3, 4, 5, 15, 2] and references therein. Very recently, Malitsky and Semenov [11] introduced a new hybrid iterative method without extrapolating step for solving VIP(1.5), which generalizes the methods given by [10, 14]. They proved that a strong convergence theorem in Hilbert space.

In this paper, we suggest and analyze an iterative method based on hybrid iterative method without extrapolating step for solving MEP (1.1). Further, we obtain a strong convergence theorem for the sequences generated by the proposed iterative algorithm. The result and method presented in this paper extend and generalize some known results and iterative methods, see for instance [11].

### 2. Preliminaries

We recall some concepts and results needed in the sequel. Let symbols  $\rightarrow$  and  $\rightarrow$  denote strong and weak convergence, respectively.

In a real Hilbert space H, it is well known that

$$\|\lambda x + (1-\lambda)y\|^2 = \lambda \|x\|^2 + (1-\lambda)\|y\|^2 - \lambda(1-\lambda)\|x-y\|^2,$$
(2.7)

for all  $x, y \in H$  and  $\lambda \in [0, 1]$ .

Furthe, any Hilbert space *H* has the Kadec-Klee property [8], that is, if  $\{x_n\}$  be a sequence in *H* which satisfies  $x_n \rightharpoonup x$  and  $||x_n|| \rightarrow ||x||$  as  $n \rightarrow \infty$ , then  $||x_n - x|| \rightarrow 0$  as  $n \rightarrow \infty$ .

166

It is well known that  $P_C$  is nonexpansive and satisfies

$$\langle x - y, P_C x - P_C y \rangle \ge \|P_C x - P_C y\|^2, \, \forall x \in H.$$
(2.8)

Moreover,  $P_C x$  is characterized by the fact  $P_C x \in C$  and

$$\langle x - P_C x, y - P_C x \rangle \le 0, \tag{2.9}$$

and

$$\|x - y\|^{2} \ge \|x - P_{C}x\|^{2} + \|y - P_{C}x\|^{2}, \, \forall x \in H, \, y \in C.$$
(2.10)

#### **Definition 2.1.** A mapping $T : H \to H$ is said to be

(i) monotone, if

$$\langle Tx - Ty, x - y \rangle \ge 0, \ \forall x, y \in H;$$

(ii)  $\alpha$ -inverse strongly monotone, if there exists a constant  $\alpha > 0$  such that

$$\langle Tx - Ty, x - y \rangle \ge \alpha ||Tx - Ty||^2, \ \forall x, y \in H;$$

(iii)  $\beta$ -*Lipschitz continuous*, if there exists a constant  $\beta > 0$  such that

 $||Tx - Ty|| \le \beta ||x - y||, \ \forall x, y \in H.$ 

We note that if *T* is  $\alpha$ -inverse strongly monotone mapping, then *T* is monotone and  $\frac{1}{\alpha}$ -Lipschitz continuous.

**Assumption 1.** The bifunction  $F : C \times C \longrightarrow \mathbb{R}$  satisfies the following assumptions:

- (i)  $F(x,x) = 0, \forall x \in C;$
- (ii) F is monotone, i.e.,  $F(x, y) + F(y, x) \le 0, \forall x \in C$ ;
- (iii) For each  $x, y, z \in C$ ,  $\limsup F(tz + (1 t)x, y) \leq F(x, y)$ ;
- (iv) For each  $x \in C$ ,  $y \to F(x, y)$  is convex and lower semicontinuous.

**Assumption 2.** The bifunction  $F : C \times C \to \mathbb{R}$  holds the following relation:

$$F(x,y) + F(y,z) + F(z,x) \le 0, \ \forall x, y, z \in C.$$
(2.11)

We easily observe that, for y = z, Assumption 1(i) and Assumption 2 implies Assumption 1 (ii).

Now, we have the following lemma.

**Lemma 2.1.** [6] Let C be a nonempty closed convex subset of H. Assume that  $F : C \times C \longrightarrow \mathbb{R}$  satisfying Assumption 1. For r > 0 and for all  $x \in H$ , define a mapping  $T_r : H \to C$  as follows:

$$T_r(x) = \{ z \in C : F(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \ \forall y \in C \}.$$
(2.12)

Then the following results hold:

- (i) For each  $x \in H$ ,  $T_r(x) \neq \emptyset$ ;
- (*ii*)  $T_r$  is single-valued;
- (iii)  $T_r$  is firmly nonexpansive, i.e.,

$$||T_r x - T_r y||^2 \le \langle T_r x - T_r y, x - y \rangle, \ \forall x, y \in H;$$
(2.13)

- (*iv*)  $Fix(T_r) = Sol(EP(1.2));$
- (v) Sol(EP(1.2)) is closed and convex, where  $Fix(T_r)$  denotes the set of fixed points of  $T_r$ .

## **Remark 2.1.** It follows from Lemma 2.1 (i)-(ii) that

$$rF(T_rx, y) + \langle T_rx - x, y - T_rx \rangle \ge 0, \ \forall y \in C, \ x \in H.$$
(2.14)

Further Lemma 2.1 (iii) implies the nonexpansivity of  $T_r$ , i.e.,

$$||T_r x - T_r y \le ||x - y||, \ \forall x, y \in H.$$
(2.15)

Furthermore (2.14) implies the following inequality

$$||T_r x - y||^2 \le ||x - y||^2 - ||T_r x - x||^2 + 2rF(T_r x, y), \ \forall y \in C, x \in H.$$
(2.16)

**Lemma 2.2.** [11] Let  $\{a_n\}$ ,  $\{b_n\}$  and  $\{c_n\}$  are nonnegative real sequences,  $\alpha, \beta \in \mathbb{R}$  and for all  $n \in \mathbb{N}$  the following inequality holds

$$a_n \le b_n - \alpha c_{n+1} + \beta c_n.$$

If  $\sum_{n=1}^{\infty} b_n < +\infty$  and  $\alpha > \beta \ge 0$  then  $\lim_{n \to \infty} a_n = 0$ 

#### 3. Hybrid iterative method

**Theorem 3.1.** Let H be a real Hilbert space and  $C \subseteq H$  be a nonempty, closed and convex subset. Let  $F : C \times C \to \mathbb{R}$  be a bifunction satisfying Assumption 1 ((i),(iii) and (iv)), and Assumption 2, and let  $A : C \to H$  be a  $\sigma$ -inverse strongly monotone such that Sol(MEP(1.1))  $\neq \emptyset$ . Let the iterative sequences  $\{x_n\}$  and  $\{z_n\}$  be generated by the following iterative algorithm:

$$\begin{cases} x_0, z_0 \in C, \\ z_{n+1} = T_{r_n}(x_n - r_n A z_n), \\ C_n = \left\{ z \in C : \|z_{n+1} - z\|^2 \le \|x_n - z\|^2 + k \|x_n - x_{n-1}\|^2 \\ -\left(1 - \frac{1}{k} - \frac{r_n}{\sigma}\right) \|z_{n+1} - z_n\|^2 + \frac{r_n}{\sigma} \|z_n - z_{n-1}\|^2 \right\}, \\ Q_n = \left\{ z \in C : \langle x_n - z, x - x_n \rangle \ge 0 \right\}, \\ x_{n+1} = P_{C_n \cap Q_n} x, \end{cases}$$

$$(3.17)$$

for  $n = 1, 2, ..., where \{r_n\} \subset [a, b]$  for some  $a, b \in (0, \frac{\sigma}{2})$  and  $k > \frac{\sigma}{\sigma - 2r_n}$ . Then the sequences  $\{x_n\}$  and  $\{z_n\}$  converge strongly to  $z = P_{\text{Sol}(\text{MEP}(1.1))}x$ .

*Proof.* Let  $\bar{x} \in Sol(MEP(1.1))$ . From iterative algorithm (3.17), we have

$$z_{n+1} = T_{r_n}(x_n - r_n A z_n), \ \forall n.$$
(3.18)

Now, applying (2.16) with  $x_n - r_n A z_n$  and  $\bar{x}$ , we have

$$\begin{aligned} \|z_{n+1} - \bar{x}\|^2 &\leq \|x_n - r_n A z_n - \bar{x}\|^2 - \|z_{n+1} - (x_n - r_n A z_n)\|^2 + 2r_n F(z_{n+1}, \bar{x}) \\ &= \|x_n - \bar{x}\|^2 - \|z_{n+1} - x_n\|^2 + 2r_n \langle A z_n, \bar{x} - z_{n+1} \rangle + 2r_n F(z_{n+1}, \bar{x}) \\ &= \|x_n - \bar{x}\|^2 - \|z_{n+1} - x_n\|^2 + 2r_n [\langle A z_n - A \bar{x}, \bar{x} - z_n \rangle \\ &+ \langle A \bar{x}, \bar{x} - z_n \rangle - \langle A z_n, z_{n+1} - z_n \rangle] + 2r_n F(z_{n+1}, \bar{x}). \end{aligned}$$
(3.19)

Since *A* is  $\sigma$ -inverse strongly monotone, then *A* is monotone and  $\frac{1}{\sigma}$ -Lipschitz continuous. Further since  $\bar{x} \in Sol(MEP(1.1))$  and  $z_n \in C$ , then

$$F(\bar{x}, z_n) + \langle A\bar{x}, z_n - \bar{x} \rangle \ge 0, \ \forall z_n \in C.$$
(3.20)

168

Using (3.20) and monotonicity of A in (3.19), we have

$$\begin{aligned} \|z_{n+1} - \bar{x}\|^2 &\leq \|x_n - \bar{x}\|^2 - \|z_{n+1} - x_n\|^2 + 2r_n \langle Az_n, z_n - z_{n+1} \rangle \\ &+ 2r_n \left[ F(\bar{x}, z_n) + F(z_{n+1}, \bar{x}) \right] \\ &= \|x_n - \bar{x}\|^2 - \|x_n - x_{n-1}\|^2 - \|x_{n-1} - z_{n+1}\|^2 - 2\langle x_n - x_{n-1}, x_{n-1} - z_{n+1} \rangle \\ &+ 2r_n \langle Az_n, z_n - z_{n+1} \rangle + 2r_n \left[ F(\bar{x}, z_n) + F(z_{n+1}, \bar{x}) \right] \\ &= \|x_n - \bar{x}\|^2 - \|x_n - x_{n-1}\|^2 - 2\langle x_n - x_{n-1}, x_{n-1} - z_{n+1} \rangle - \|x_{n-1} - z_n\|^2 \\ &- \|z_n - z_{n+1}\|^2 - 2\langle x_{n-1} - z_n, z_n - z_{n+1} \rangle - 2r_n \langle Az_n - Az_{n-1}, z_{n+1} - z_n \rangle \\ &- 2r_n \langle Az_{n-1}, z_{n+1} - z_n \rangle + 2r_n \left[ F(\bar{x}, z_n) + F(z_{n+1}, \bar{x}) \right] \\ &= \|x_n - \bar{x}\|^2 - \|x_n - x_{n-1}\|^2 - 2\langle x_n - x_{n-1}, x_{n-1} - z_{n+1} \rangle - \|x_{n-1} - z_n\|^2 \\ &- \|z_n - z_{n+1}\|^2 - 2r_n \langle Az_n - Az_{n-1}, z_{n+1} - z_n \rangle \\ &+ 2\langle x_{n-1} - r_n Az_{n-1} - z_n, z_{n+1} - z_n \rangle + 2r_n \left[ F(\bar{x}, z_n) + F(z_{n+1}, \bar{x}) \right]. \end{aligned}$$
(3.21)

As 
$$z_n = T_{r_n}(x_{n-1} - r_n A z_{n-1})$$
 and  $z_{n+1} \in C$ , we have from (2.14)  
 $\langle x_{n-1} - r_n A z_{n-1} - z_n, z_{n+1} - z_n \rangle \le r_n F(z_n, z_{n+1})$ 

This implies that

$$||z_{n+1} - \bar{x}||^2 = ||x_n - \bar{x}||^2 - ||x_n - x_{n-1}||^2 - 2\langle x_n - x_{n-1}, x_{n-1} - z_{n+1} \rangle - ||x_{n-1} - z_n||^2 - ||z_n - z_{n+1}||^2 - 2r_n \langle Az_n - Az_{n-1}, z_{n+1} - z_n \rangle + 2r_n [F(\bar{x}, z_n) + F(z_n, z_{n+1}) + F(z_{n+1}, \bar{x})].$$
(3.22)

)

Now, using the triangle, the Cauchy-Schwarz, and the Cauchy inequalities, we get

$$\begin{aligned}
-2\langle x_n - x_{n-1}, x_{n-1} - z_{n+1} \rangle &\leq 2 \|x_n - x_{n-1}\| \|x_{n-1} - z_n\| + 2 \|x_n - x_{n-1}\| \|z_n - z_{n+1}\| \\
&\leq \|x_n - x_{n-1}\|^2 + \|x_{n-1} - z_n\|^2 + k \|x_n - x_{n-1}\|^2 \\
&+ \frac{1}{k} \|z_{n+1} - z_n\|^2.
\end{aligned}$$
(3.23)

Since *A* is  $\sigma$ -inverse strongly monotone, we get

$$-2r_n \langle Az_n - Az_{n-1}, z_{n+1} - z_n \rangle \leq 2r_n \frac{1}{\sigma} ||z_n - z_{n-1}|| ||z_{n+1} - z_n||$$
  
 
$$\leq \frac{r_n}{\sigma} (||z_{n+1} - z_n||^2 + ||z_n - z_{n-1}||^2).$$
 (3.24)

Combining inequalities (3.22)-(3.24) and using Assumption 2, we get

$$\begin{aligned} \|z_{n+1} - \bar{x}\|^2 &\leq \|x_n - \bar{x}\|^2 + k \|x_n - x_{n-1}\|^2 - \left(1 - \frac{1}{k} - \frac{r_n}{\sigma}\right) \|z_{n+1} - z_n\|^2 \\ &+ \frac{r_n}{\sigma} \|z_n - z_{n-1}\|^2, \end{aligned}$$
(3.25)

which implies that  $\bar{x} \in C_n$  and hence  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq C_n$ ,  $\forall n$ . Further, it is easily observed that the sets  $C_n$  and  $Q_n$  is closed and convex for each  $n = 0, 1, 2, \ldots$ . Next, by mathematical induction method, we show that  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq Q_n$ ,  $\forall n$ . For n = 0, evidently  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq C_0$  and  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq Q_0 = H$ , it follows that  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq C_0 \cap Q_0$  is nonempty, closed and convex set. Therefore  $x_1 = P_{C_0 \cap Q_0} x$  is well defined. Now, we suppose that  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq C_{n-1} \cap Q_{n-1}$ , for some n > 1. Let  $x_n = P_{C_n \cap Q_n} x$ . Since  $\operatorname{Sol}(\operatorname{MEP}(1.1)) \subseteq C_n$  and for any  $\bar{x} \in \operatorname{Sol}(\operatorname{MEP}(1.1))$ , it follows from

(2.9) that  $\langle x - x_n, x_n - \bar{x} \rangle = \langle x - P_{C_{n-1} \cap Q_{n-1}} x, P_{C_{n-1} \cap Q_{n-1}} x - \bar{x} \rangle \ge 0$ , and hence  $\bar{x} \in Q_n$ . Therefore Sol(MEP(1.1))  $\subseteq C_n \cap Q_n$  for every n = 0, 1, 2, ... and hence  $x_{n+1} = P_{C_n \cap Q_n} x$  is well defined for every n = 0, 1, 2, .... Thus the sequence  $\{x_n\}$  is well defined.

Since A is  $\sigma$ -inverse strongly monotone and Sol(MEP(1.1)) $\neq \emptyset$  then  $T_{r_n}(I - r_n A)$  is nonexpansive and hence Sol(MEP(1.1)) = Fix( $T_{r_n}(I - r_n A)$ ) is closed and convex where I denotes the identity operator on H.

Let  $w = P_{Sol(MEP(1.1))}x$ . From  $x_{n+1} = P_{C_n \cap Q_n}x$  and  $w \in Sol(MEP(1.1)) \subset C_n \cap Q_n$ , we have

$$||x_{n+1} - x|| \le ||w - x||, \tag{3.26}$$

for every n = 0, 1, 2, .... Therefore  $\{x_n\}$  is bounded. From (3.17), we have respectively  $x_{n+1} \in C_n \cap Q_n$  and  $x_n = P_{Q_n}x$ , and hence, we have

$$||x_n - x|| \le ||x_{n+1} - x||, \tag{3.27}$$

for every n = 0, 1, 2, .... It follows from (3.26) and (3.27) that the sequence  $\{||x_n - x||\}$  is monotonically increasing and bounded, and hence convergent. Therefore  $\lim_{n \to \infty} ||x_n - x||$  exists.

Since  $x_n = P_{Q_n} x$  and  $x_{n+1} \in Q_n$ , using (2.10), we have

$$||x_{n+1} - x_n||^2 \le ||x_{n+1} - x||^2 - ||x_n - x||^2,$$
(3.28)

for every n = 0, 1, 2, .... Hence, it follows from (3.28) that

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$
(3.29)

Since  $x_{n+1} \in C_n$ , we obtain

$$||z_{n+1} - x_{n+1}||^2 \leq ||x_{n+1} - x_n||^2 + k||x_n - x_{n-1}||^2 - \left(1 - \frac{1}{k} - \frac{r_n}{\sigma}\right)||z_{n+1} - z_n||^2 + \frac{r_n}{\sigma}||z_n - z_{n-1}||^2.$$
(3.30)

Set  $a_n = ||z_{n+1} - x_{n+1}||^2$ ,  $b_n = ||x_{n+1} - x_n||^2 + k||x_n - x_{n-1}||^2$ ,  $c_n = ||z_n - z_{n-1}||^2$ ,  $\alpha = (1 - \frac{1}{k} - \frac{r_n}{\sigma})$ ,  $\beta = \frac{r_n}{\sigma}$ .

Since  $\sum_{n=1}^{\infty} b_n < +\infty$  and  $\alpha > \beta$ , it follows from Lemma 2.2 that

$$\lim_{n \to \infty} \|z_n - x_n\| = 0.$$
(3.31)

Since  $\{x_n\}$  is bounded sequence in *C*, there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  such that  $x_{n_k} \rightarrow \hat{x}$ , say, and  $\hat{x} \in C$ . Further, it follows from (3.31) that the sequences  $\{x_n\}$  and  $\{z_n\}$  both have the same asymptotic behavior. Therefore, there exists a subsequence  $\{z_{n_k}\}$  of  $\{z_n\}$  such that  $z_{n_k} \rightarrow \hat{x}$ . Next, we show that  $\hat{x} \in \text{Sol}(\text{MEP}(1.1))$ . It follows from (2.14) and (3.17) that

$$F(z_{n_k+1}, y) + \frac{1}{r_{n_k}} \langle z_{n_k+1} - (x_{n_k} - r_{n_k} A z_{n_k}), y - z_{n_k+1} \rangle \ge 0, \ \forall y \in C_{2}$$

which implies

$$\left\langle \frac{z_{n_k+1}-x_{n_k}}{r_{n_k}}, y-z_{n_k+1} \right\rangle \ge F(y, z_{n_k+1}) - \left\langle A z_{n_k}, y-z_{n_k+1} \right\rangle, \ \forall y \in C,$$
(3.32)

using monotonicity of F.

For t with  $0 < t \le 1$ , let  $y_t = ty + (1 - t)\hat{x} \in C$ . So, from (3.32), we have

$$\begin{aligned} \langle Ay_t, y_t - z_{n_k+1} \rangle &\geq \langle Ay_t, y_t - z_{n_k+1} \rangle - \langle Az_{n_k}, y_t - z_{n_k+1} \rangle \\ &- \left\langle \frac{z_{n_k+1} - x_{n_k}}{r_{n_k}}, y_t - z_{n_k+1} \right\rangle + F(y_t, z_{n_k+1}) \\ &= \langle Ay_t - Az_{n_k+1}, y_t - z_{n_k+1} \rangle + \langle Az_{n_k+1} - Az_{n_k}, y_t - z_{n_k+1} \rangle \\ &- \left\langle \frac{z_{n_k+1} - x_{n_k}}{r_{n_k}}, y_t - z_{n_k+1} \right\rangle + F(y_t, z_{n_k+1}). \end{aligned}$$

Since *A* is Lipschitz continuous, we have  $\lim_{k\to\infty} ||Az_{n_k+1} - Az_{n_k}|| = 0$ . Further, from the monotonicity of *A* and the convexity and lower semicontinuity of *F*,  $\frac{z_{n_k+1} - x_{n_k}}{r_{n_k}} \to 0$  and  $z_{n_k+1} \to \hat{x}$ , we have

$$\langle Ay_t, y_t - \hat{x} \rangle \ge F(y_t, \hat{x}), \tag{3.33}$$

as  $k \to \infty$ . Further, we have

$$\leq F(y_t, y_t) \leq tF(y_t, y) + (1 - t)F(y_t, \hat{x}) \leq tF(y_t, y) + (1 - t)\langle Ay_t, y_t - \hat{x} \rangle = tF(y_t, y) + (1 - t)t\langle Ay_t, y - \hat{x} \rangle$$

and hence

$$0 \le F(y_t, y) + (1 - t)\langle Ay_t, y - \hat{x} \rangle$$

Letting  $t \to 0_+$ , we have, for each  $y \in C$ ,

0

$$F(\hat{x}, y) + \langle A\hat{x}, y - \hat{x} \rangle \ge 0.$$

This implies that  $\hat{x} \in Sol(MEP(1.1))$ . From  $w = P_{Sol(MEP(1.1))}x$  and (3.26), we have

$$|w - x|| \le ||\hat{x} - x|| \le \liminf_{k \to \infty} ||x_{n_k} - x|| \le \limsup_{k \to \infty} ||x_{n_k} - x|| \le ||w - x||.$$

Thus, we have

$$\lim_{k \to \infty} \|x_{n_k} - x\| = \|\hat{x} - x\|.$$

Since  $x_{n_k} - x \rightarrow \hat{x} - x$  and from Kadec-Klee property of Hilbert space, we have  $x_{n_k} - x \rightarrow \hat{x} - x$  and hence  $x_{n_k} \rightarrow \hat{x}$ . Since by definition of  $Q_n$ , we obtain  $x_n = P_{Q_n} x$  and  $w \in \text{Sol}(\text{MEP}(1.1)) \subset C_n \cap Q_n$ , we have

$$-\|w-x_{n_k}\|^2 = \langle w-x_{n_k}, x_{n_k}-x \rangle + \langle w-x_{n_k}, x-w \rangle \ge \langle w-x_{n_k}, x-w \rangle.$$

As  $k \to \infty$ , we obtain  $-||w - \hat{x}||^2 \ge \langle w - \hat{x}, x - w \rangle \ge 0$  by  $w = P_{\text{Sol}(\text{MEP}(1.1))}x$  and  $\hat{x} \in \text{Sol}(\text{MEP}(1.1))$ . Hence we have  $\hat{x} = w$ . This implies that  $x_n \to w$ . It is easy to see that  $z_n \to w$ . This completes the proof.

**Remark 3.2.** If we set F = 0 then  $T_{r_n} = P_C$  and thus Theorem 3.1 is reduced to Theorem 1 given by Malitsky and Semenov [11]. Further, the method presented in this paper can be extended to the Mixed equilibrium problem for set-valued mappings.

#### References

- Blum, E. and Oettli, W., From optimization and variational inequalities to equilibrium problems, Math. Stud., 63 (1994), 123–145
- [2] Bnouhachem, A. and Chen, Y., An iterative method for a common solution of generalized mixed equilibrium problems, variational inequalities, and hierarchical fixed point problems, Fixed Point Theory Appl. 2014, 2014:155
- [3] Ceng, L. C., Hadjisavvas, N. and Wong, N. C., Strong convergence theorem by a hybrid extragradient-like approximation method for variational inequalities and fixed point problems, J. Global Optim., 46 (2010), 635–646
- [4] Ceng, L. C., Guu, S. M. and Yao, J. C., Finding common solution of variational inequality, a general system of variational inequalities and fixed point problem via a hybrid extragradient method, Fixed Point Theory Appl., Art. ID 626159 (2011), 22 pp
- [5] Ceng, L. C., Wang, C. Y. and Yao, J. C., Strong convergence theorems by a relaxed extragradient method for a general system of variational inequalities, Math. Meth. Oper. Res., 67 (2008), 375–390
- [6] Combettes, P. L. and Hirstoaga, S. A., *Equilibrium programming in Hilbert spaces*, J. Nonlinear Convex Anal., 6 (2005), 117–136
- [7] Daniele, P., Giannessi, F. and Mougeri, A. (Eds), Equilibrium Problems and Variational Models, Nonconvex Optimization and its Application, Vol. 68, Kluwer Academic Publications, Norwell, 2003
- [8] Goebel, K. and Kirk, W. A., Topics in Metric Fixed Point Theory, Cambridge University Press, Cambridge, 1990
- [9] Hartman, P. and Stampacchia, G., On some non-linear elliptic differential-functional equation, Acta Mathematica, 115 (1966), 271–310
- [10] Korpelevich, G. M., The extragradient method for finding saddle points and other problems, Matecon, 12 (1976), 747–756
- [11] Malitsky, Y. V. and Semenov, V. V., A hybrid method without extrapolating step for solving variational inequality problems, J. Global Optim., 61 (2015), 193–202
- [12] Moudafi, A. and Théra, A., Proximal and dynamical approaches to equilibrium problems, in *Lecture Notes in Economics and Mathematical Systems*, 477, Springer-Verlag, New York 1999, 187–201
- [13] Moudafi, A., Second order differential proximal methods for equilibrium problems, J. Inequal. Pure Appl. Math., 4 (2003), Art. 18
- [14] Nadezhkina, N. and Takahashi, W., Strong convergence theorem by a hybrid method for nonexpansive mappings and Lipschitz continuous monotone mapping, SIAM J. Optim., 16 (2006), No. 40, 1230–1241
- [15] Rouhani, B. D., Kazmi. K. R. and Rizvi, S. H., A hybrid-extragradient-convex approximation method for a system of unrelated mixed equilibrium problems, Trans. Math. Pogram. Appl., 1 (2013), No. 8, 82–95

DEPARTMENT OF MATHEMATICS ALIGARH MUSLIM UNIVERSITY ALIGARH 202002, INDIA *E-mail address*: krkazmi@gmail.com *E-mail address*: shujarizvi07@gmail.com